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[nstructions : (1) Figures to the right indicatc the full marks of that question.

(2) Usc of simple calculator 1s allowed.

. (A) (i) Explain: (a)t—distribution (b) degrees of freedom. ¢
(i) A drug is given to 12 patients and the increments in their blood pressurc
were recorded as 2, 6, 8, 10, 4, =% OIS 4, Is it reasonable to
believe that the drug has increasing offeet on change of blood pressurc 7
[t 05 = 1-80] 7

OR

(A) (i) Statethe properties and assumptions of t-distribution.

(ii) For two indepcndent samples the following information is available. Test

the hypothesis the population means are equal. Show your assumptions.

Type-1 | Type-1l
Number of units 8 7
Mean 1134 1024
M. 35 40
[tgos = 1.771]

(B) Answer the following :
(i) Give any two uses of t-distribution.

(ii) Who had found (-distribution and when ?
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2. (A) ()

(11)

(A) (i)

(ii)

State the probabi
5 dice are thrown for 486 times and oblal
The distribution of number of successes is given below :

Number of Successes :

0

1

2 3

4

Frequency

70

at

50 | 80

15

Is dice unbiased ? %%, o5 = 7-82]

The demands of books from a library from Monday to Sunday arc given

below : [2, 5 = 12.59]

OR

Day

Mon

Tue

Wed

Thu

Fri | Sat

Sun

Demand

14

16

8

12

TRE

14

Test the hypothesis that the demand of books are dcpr::':dcnt on days ?

In a survey of 200 boys, of which 75 were intelligent, and of them 40 had
skilled father, while 85 of the unintelligent boys had unskilled fathers. Do
these figures support the hypothesis that skilled father have intelligent

boys ? Use %2 test.

[1 0.05

=3.84]

(B) Answer the following :

)
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(1)
(i1)

(A) ()

(i1)

Give anytwo limitations of %2 test.

State any two uses of ¢ test.

Explain the principles of design of experiment.
Set up a two way ANOV A table for the data given below :

Plot
| Varicties | J I | Y| A | Total
P 36 | 36 | 21 | 35 | 128
Q 28 129 | 31 | 32| 120
R L1811 ] 112
Total 90 | 93 | 81 | 96 | 360
[Fg =476, F = 5.14] ]
OR

6

lity density function of 42 distribution. Give its properties. 7
ning 5 or 6 is regarded as success.

7



(A) (i) What do you understand by analysis of variance ? Discuss Latin square
design.
(ii) Prepare a analysis of variance for the data given below :

—Fu.m (2.12)=693
LFg_m (1?- :2) = 0042

X {20 {21 {23 |16 |20

Y |18 {20 |17 |25 |15 |

L |25 {28 122 |28 |32

(B) Answer the following :
(\) Write any two uses of F-test.

(i1) State ANOVA table for one way classification.

4. (A) (i) Give the difference between paramétric.afd non-parametric tes.

(ii) A queue of Men (M) and Women (W).isobserved at a station in the
following form :

W, M. WWW, MMM, WW, M; WWWW, MMMM, W, M,W, MM,
WWW, MM, W, MMMM, WW, M, WW, MMMM, WW, M, WWWW,
MM, WW, M, W, MM, WW.

Is the'quene is random ? (Z,, o5 = 1.90)

/
OR

(A) (i)  Explain KRUSK" " - WALLIS (H-test) non-parametric test.

(ii) Verify that the following two samples are drawn from same population or
not. (Use Mann — Whitney U-test)

Sample : | 12 47.41,51,30,39,48,53 |
54,32, 31, 46, 37, 32, 42

—_—

Sample : 11 41, 53, 48, 49, 42, 36, 41

30, 33, 37, 40, 49, 43, 38, 50

(Zoas =1.90)
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(3) Answer the following

(i) State the calculation (ormula for sign (est.

Jes of non-paramct ric tests which you know.

(i)  State the nan
PSS
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O
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O
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